R=-Y & mE YM4X A = mE YM4X  AK

BIneT [(8%8) [A®]) BERET [#%&])
1-014 | 8% 150 1-050 | 2~ | 5007 400
1-015 | 1+ 195 g | L05L] 2955 450
1-016 | 15125 210 1-052 | 3+ 600
g | L1017 1955 2007 220 £ 53 [ avsn | Y 800
ey | 08| 1985 235 1-054 | 4+ 1,000
1-019 | 2+ 285 FERIT (38
1-020 | 215% 650 1-085 | 1969 | . 400
1-021 | 3+ | 1004 1,300 1-056 | 2+ 440
1-022 | 4+ 2,900 #% [1-057 | 245% 480
1-023 | 8% 300 i [1058| 3y | o 550
1-024 | 1+ 330 1-059 | 35% 830
1-025 | 192% 380 1-060 | 4+ 1,200
1z [ 1-027 | 198% 440 1-130 | 5% 110
av% | 1-028 | 2+ 530 1-131 | 8% 200
1-029 | 25% 1300 | 1-132 | 1+ 210
1-030 | 34 | 500¢ 2,900 1183 [ 1929 | 250
1-031| 4+ 5,000 # [1-138 | 1945 280
1-032 | 8% 630 s | 1-135 | 1965 320
1-033 | 1+ 630 1-136 | 198% 350
1-034 | 1525 710 1-137 | 2+ 380
g | 1035 1955 790 1138 | 2955 | | 920
sy | 1036 | 1985 1,150 1-139 | 3+ 1,000
0 1-038 | 215% 1,460 1-150 | 6% 400
1-039 | 3v | 1004 2.450 1-151 | 7% 400
1-040 | 4 5,800 1-152 | 8% 400
1-001 | 6% 280 ey | L1548 | 1925 | 5005 500
1-002 | 7% 280 1-155 | 144% 560
1-003 | 8% 280 1-156 | 1965 620
1-004 | 1+ 280 1-157 | 1+8% 750
1-005 | 1429 | 5007 280 1-158 | 2+ 840
ey | 1007 | 1965 380 1-090 | 12% 400
1-008 | 1<18% 425 1-091 | 1<5% | 5004 430
1-009 | 2+ 500 #%-2 1002 2+ 520
1-010 | 2<5% 1,050 1093 | 255 | | 700
o 3y | oo 1,570 1-094 | 3+ 1,180
1-013 | 4+ 6,300 1-100 | 5+ 1,500
1-041 | 65 190 1-102 | 7+ 3,000
1-082 | 7» 190 M T = 3,500
1-043 | 8% 190 1-104 | o+ 3,800
5 [0 17 210 1-105 | 1R 4,400
1-045 | 1429 | 5007 230
006 | 1945 255
1-047 | 15165 365
1-048 | 1<18% 500
1-049 | 2+ 580




R=Y B mE V414X A mE HA4X A# a3 fii]
FireT [#58) A =€)
1-106 [ 1455 500 |- [1160] 65 | s00r | 170
o. 8 1-107 | 2~F 100" 550 4 > T87 [8%8)
" [1108 | 2955 670 | [1d61] 85 [ 3005 [ 260
1-109 | 3~F 880 AISR 18 [$8)
72 ZERET [(8E) 1-190 2~F 1,600
1-110 | 1~ 2% 1,000 - 1-191 | 2~f5% | 1007 1,750
1-111 | 15% 1,070 1-192 | 3~ 2,000
#%-2)|1-112| 2+ 1007 1,470 74 ARIER 28 [#53)
1-113 | 2~5% 1,680 ] 1-193 | 25mm 1005 2,500
1-114 | 3~ 1,980 1-194 [ 30mm 2,500
55 (RE) [#K)
| [1115] [ 17 | 43000 1195 [ /v 400
BT (RVR)  [#%E) 1-196 N 2007 490
| [116] - | 17 | 23500 - e = 600
T (Fy bR [BE) 1-198 X 100% 750
- Ji17] - ] 1 | 23500 1199 | ik 900
EST [#R] [RER] [27/13] HugR [#R]
1-061 5~F 850 1-170 | 2~F 550
1-062 6~F 1,000 o 1-171 | 2~5% 600
#% |[1-063| 7+ 1,050 i 1-172 | 3~ 1007 700
4#p | 1-064 [ 8~F 1,150 1-173 | 3<5% 780
1-065 | 9o~f 1,210 1-174 | 4~ 880
1-066 1R 1,250 iR [#R]
1-071 5~F 1,700 1-175 | 1~2% 500
1-072 6~F 1,800 o 1-176 | 1~5% 530
13 | 1-073| 7~ 1004 2,000 i 1-177 | 2~ 1007 600
4#p | 1-074 | 8~F 2,200 1-178 | 2~5% 690
1-075 | o+ 2,500 1-179 | 3~ 750
1-076 1R 2,700 TR [#R]
1-081 5~F 2,000 - 1-180 | 1~ 2% 500
1-082 6~F 2,100 o 1-181 | 154 540
- 1-083 | 7~ 2,200 1-182 | 2~F 1007 580
AT/VA 4 b
1-084 | 8~f 2,300 1-183 | 2~5% 640
1-085 [ o+f 2,400 1-184 | 3~F 710
1-086 1R 2,600 FEV E [$%E]
1-140 | 5~F 550 % |[1-186| 2+ L00% 580
1-141 6~F 550 i | 1-187 | 254 650
&% | 1-142| 7+ 100" 620 1-188 | 3~f 800
S#p | 1-143 [ 8~F 660 FiEVL & [#E]
1-144 | o~f 730 1-165 | 1<75% 550
1-145 1R 800 #* | 1-166 | 2~ 1004 580
i | 1-167 | 255 650
1-168 | 3~f 800




